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DIHYBRID PROMBLEMS

1) In man, assume that spotted skin (S) is dominant over non-spotted skin (s) and that wooly hair (W) is dominant over
non-wooly hair (w). Cross a marriage between a heterozygous spotted, non-wooly man with a heterozygous wooly-haired,
non-spotted woman. Give genotypic and phenotypic ratios of offspring.

2) In horses, black is dependent upon a dominant gene, B, and chestnut upon its recessive allele, b. The trotting gait is due
to a dominant gene, T, the pacing gait to its recessive allele, t. If a homozygous black pacer is mated to a homozygous
chestnut trotter, what will be the appearance of the F1 generation?

2) In garden peas, tallness (T) is dominant to shortness (t) and axillary flowers (A) are dominant to terminal flowers (a).
What are the expected genotypes and phenotypes of the offspring if a heterozygous tall, heterozygous axillary plant is
crossed with a heterozygous tall, terminal plant?




